ALGEBRA Il ACTIVITY 6:

ﬂ.‘hﬁmam,-. FINITE DIFFERENCES
Tlalgebra.com

ACTIVITY OVERVIEW:

In this activity we will CALC TESTS
e Analyze differences in a set of data to !:-HEH]_-I-__
determine the degree of the polynomial that tSortAL
will fit the data SiSortho
e Copy lists and use the “change in list’ diClrList
command to analyze change 2t SetlUrEditor
e Set up and examine scatter plots to determine
the degree of the polynomial that will fit the
data
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Set up a scatter plot of the data. Press [2nd|[Y3. ZiFPlot2 OffF
L= L1 Lz o
SEPlotE 0ff
L L Lz o
4P lot=0f+
Flakz Flokz
o
Press to select 1: Plot 1. register. Press gt B8 L dl
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What type of function do you think will match this data?
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Press [STAT](ENTER]. Arrow to the top (title) of L3. Press % 12
2nd][1JENTER]. This will place the L1 values into L3. a E3
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Press [2nd|[STAT]][7] to select 7: AList. This will paste %: E?E%D t
the command into the statistics screen. "-'|-; Fillc
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Press [2nd][2])[)]. This tells the calculator to find the 12 %
changes between values in L2 and place them into L4. EE ;
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Press [ENTER] to execute.

Set up Plot 2 to plot the first differences (L4) against
the L3, which is the original Xlist less the first entry.
Select the “+” as the mark.
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Press [Z00M](9). Examine the shape of this graph. What
does it tell you about the first differences?
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Press [STAT](ENTER]. Arrow to the top (title) of L5. Press % E
[2nd](3](ENTER]. This will place the L3 values into L5. ; ;
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Press [DEL) to remove the first value in the list. ﬁ ? 'E‘_
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Arrow to the top (title) of L6. Press 2nd[STATID]7] to % % ------
select 7: AList. Press [2nd][4])D]. This tells the L i
calculator to find the changes between values in L4 and r )
place them into L6. E:I. f _____
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Set up Plot 3 to plot the second differences (L6) Tup[e!;::i:h L= Jdha
against the L1, which is the original Xlist less the first HH-- HIH |~
two entries. Select the “box” as the mark. mlistile
‘"list:ils
Mark: B -+

Press [Z00M|(9]). Examine the shape of this graph. What
does it tell you about the second differences?
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Since the second differences were constant, we can %: %:uap 5%5%5
determine that the data is quadratic. Run a quadratic 3: HEI:IEHE'I:‘I L=
regression. Press [STAT]](5]) to paste the QuadReg 4 ; LinRegdg=+h2
command on the home screen. HyadReg
:CubickEeg
rlEuartEeg
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Press [2nd)(1]J@2nd](2](. J(VARS]][1](1] to tell the

calculator to run a regress on L1 and L2 and place the
results into Y;. Press [ENTER] to execute.
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Press [Y5] to view the equation.

Press to see the equation graph through the
original scatter plot.
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